Appendix A. Supplementary Material on RSSD Algorithm

Algorithm 1 RSSD Algorithm

Input

V.D,p,T, ¥

Output

R: RieR:Vi(r))<tAc(r) <y
1: ter <+ tCompliant(V,D, 1)
2: bool noncompliance < true
3: while noncompliance do

4: ctcR, pr < cCompliant(tcr, D, )
5: R+ RUctcR

6 ift(pr) > 7 then

7: mtcR < tCompliant(pr, D, 7)
8 tcR < tecrUmtcR

9 elif ¢(pr) > y then
10: mtcR < tCompliant(pr,D, T)
11: else
12: noncompliance < false
13: R+ RUpr
14: end if

15: end while

Algorithm 2 tCompliant

Input
V.D,p,T
Output
tcR: RieR:Vt(r;)) <7
r1,ry < SpatialPartition(V, D, p)
tcR < tcRUr1,
while (r;) > ©Vr; €tcR do
tcR < tcRv;
Ya,tp < Spatial Partition(r;, D, p)
tcR + tcRU{r,,rp}
end while
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Algorithm 3 SpatialPartition

Input

V.D,p

Output

tcR: R,ER:Vt(r;)) <7
1. rg,1p < {V\p}.maxVs(D)

2. while |r,|+ |rp| #n—|p| do

3 if7(r,) <t(rp) then

4 Fa 1o Uv;, where v; < {r; 1 10} .minV (D, V\{p,ra,r5})
5 else

6 rp 4 1, Uvy, where v; < {r, 1, r)}.minV (D,V\{p,rp,ra})
7 end if

8 ra < 14U py where py < {r; !, r0}.minV (D, p)

9: 1y < ryUpy where py {r;l , rg}.minV(D,p)

10: end while

11: return r,,7p

Algorithm 4 cCompliant

Input

tcR,p,Dy

Output

ctcR: Ry €R:Vi(r) <tAc(ry) <y

pr: New route composed of pruned notes
1: while 7cr do

2 for r; in tcR do

3 while ¢(r;) > WVr; € tcR do

4 pr < prUv;, where v; < p.minv(D,r;)

5: ri < r; \Vl‘

6 end while

7 ctcR < ctcRUr;

8 tcR < tcR \r;

9: end for

10: end while

11: return ctcR, pr
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Figure A1 — The same flow chart as Figure 2 about the work flow of RSSD, but instead uses text
explanations instead of mathematical notation.
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